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Note 10a. Fourier 0 0O
0000000000 2L00000 f(z)OOO

+—j£: (ancos + by, Sulz%;z), (10.1)
24 by =+ " in 10.2
/f cos—x n—z/_Lf(m)smT x. (10.2)
00000000 f(x)
nmw={{“) ¢z 0000000 103)
Hf(z+0)+ f(z—0) 00000000

000000000 f(z)0 Fourier 000000 f(x) 0000000000000 fo(z) O
fz)0000000C0OOO0OOOOOOOOOODOO

[10.1] OO0 —-L<2<LO0000000O0O0O f(x)0 Fouwrler 00O O0OODOODO

a, 0<z<L, L‘|‘$ _L<z<b
()O00: f@)={ 0, w=0+L, @Q00: f)={ FHD
—a, —L<z<0, aL_b, bzl
[10.2) OO0O0OCOOOOODO 2L 00000 f(x)UODOOUOO Fourier 0O O
= . 1 L . nm
iknx - —iknx -
Z cne™®, e = o7 [Lf(x)e dz, k, 7 (10.4)

n=—oo

O000UO0OONote 10a00000000Oay, b, 000000 Fourter 00 ¢, 000000 f(z)00
00000 c.,=c, 0000000000

[10.3] 0< 2 <¢000000000 u(0,¢)=u(f,t)=000000 u(z,0) = f(z),u(z,0)=g(x) 000 1
0000000 uy — uge =0 (¢>0:00)000000
(H)oooo

oo
u(x,t) :Z <fncoswn +g—s1nwn >smk x,

n=1

2 E
f":Z/ f(x)sink,zdx, In (/ x) sin kpxde, kn:E wy, = cky,
0
ooooooood

(2)0000000 p0D07TOO0D000000D000 =T/p000000000000000
ooo

Lt 2
E=_ (putJrTuT) dx
2 /, z
gooono
3)0000 f(x)=2z(f—2),9(x)=000000000000
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